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1 BE ZIEE R EFERL R4.5.16 2 0.20 BokO <1 <1 52 2,000 2,052 R4.8.18 | 2 0.20 BwkO <1 <1 50 1,900 1,950
OEER R BER
2 =5 i) ZIEE R EFERL R4.5.16 ) 0.22 BokO <1 <1 50 2,400 2,450 R4.8.18 | 2 0.23 BwkO <1 <1 99 2,500 2,599 (R4.11.17)  0.20 £ Sv/h
(R4.12.1)  0.20 uSv/h
3 1Tt IR EF L R4.5.16 £ 0.15 BokO <1 <1 130 3,900 4,030 R4.8.18 = 0.14 BkO <1 <1 79 3,500 3,579
4 = /Hi LZIEE R HEFEKE R4.5.10 B5 0.20 BokO <1 <1 70 1,800 1,870 R4.8.18 = 0.17 BkO <1 <1 70 3,300 3,370
5 Emth ZIEBTHE) | F R R4.5.9 £ 0.08 BokO <1 <1 <29 720 720 R4.8.17 = 0.08 BwkO <1 <1 <22 440 440
6 £/ HiEK LSBT || FE R4.5.9 £ 0.11 BokO <1 <1 <45 630 630 R4.8.17 = 0.09 BwkO <1 <1 <30 240 240
7 Tt LI || F R4.5.16 | /\’SE 0.17 BokO <1 <1 59 2,300 2,359 R4.8.18 = 0.16 BwkO <1 <1 22 1,000 1,022
8 Bigith B RATHE R4.5.9 £ 0.11 BokO <1 <1 85 3,900 3,985 R4.8.17 = 0.10 BwkO <1 <1 72 3,300 3,372




